0.12

0.1

0.08

0.06

0.04

0.02

—0.02

—-0.04

—0.06

—0.08

Ratio to CMS

0.5

8000 GeV pp

Ac VS M, .. (ttevents, parton level information)

m CMS
—A— Pythia 6.428 370
--H-- Pythia 6.428 391

Rivet 3.1.10, = 400k events

tt

- |_
:_ Pythia 6.428 default _:
- A Pythia 8.165 default |
- —g
~ — M
- =<
(40)

B lwo
— - 1O
B —1 M
- —
- —H=
- —IX
- 1.8
B —
- N
— |1 <
- 4@
3 1o
— 1w,
- mfs
~ — O
- ]
S Y P =
" i =2
9 5 -
: ! 1

: /’/q.:| :
| : — 0.5

1 | I! 1 l L . l

800 1000 1200

I\/ltbar{t}



	Contents
	Page 1


